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TRIG IDENTITIES

tan O = (sin 0) / (cos 0)
cot © = (cos 0)/ (sin 0)
sec =1/ (cos 0)

csc 0=1/(sin 0)

sin? @ + cos? 0 = 1

1 + tan? © = sec’ O

1+ cot” 0 =csc’ 0

cos (—0)=cos 0

sin (—0) =—sin O

.cos (m—0)=-—cos 0

.sin (m-0)=sin 0

.cos (m+0)=-—os 0O

.sin (t+0)=-sin O

.cos (6 £ 2nn) = cos O for any integer n

.sin (0 £ 2ntn) = sin 6 for any integer N

. cos (/2 +0)=-sin O

.sin (/2 +0)=cos 0

.cos (m/2—-0)=sin O

.sin (1/2 — 0) =cos 0

. €0s (0] + 6;) = (cos B;)(cos 0,) — (sin 01)(sin 6;)

. cos (01 — 02) = (cos 0;)(cos 6,) + (sin 0;)(sin 0,)

.sin (0; £ 0,) = (sin 0;)(cos 0,) % (cos 0;)(sin 6,)

.tan (0; + 0;) = (tan O, + tan 0,) / [1 — (tan O;)(tan 0,)]
.tan (06; — 6;) = (tan 06, —tan 0;) / [1 + (tan 0;)(tan 6,)]
. sin (20) = 2(sin 0)(cos 0)

. cos (20) = cos” 6 —sin” O

. cos (20) = 1 — 2(sin” 0)

. cos (20) = 2(cos® 0) — 1

.tan (20) = [2(tan 0)] / (1 — tan” )

. sin (6/2) = +[(1 — cos 8)/2]"*

. cos (0/2) = +[(1 + cos 0)/2]">

.tan (6/2) = £[(1 — cos 0) / (1 + cos 0)]"?

. sin (0; + 0,) + sin (0; — 6,) = 2(sin 0;)(cos 0,)

.sin (0; + 6,) —sin (0; — 0;) = 2(cos 0;)(sin 6,)

.cos (0; +0,) + cos (0; — 0,) =2(cos 0;)(cos 0,)

. €0s (0] + 0;) — cos (0; — 0,) =—2(sin O;)(sin 0,)

. sin B + sin 6, = 2[sin ((0; + 62)/2)][cos ((6; — 62)/2)]
.sin 0; — sin 6; = 2[cos ((0; + 6,)/2)][sin ((6; — 6,)/2)]
. cos 0; + cos 0, =2[cos ((0; + 02)/2)][cos (0; — 0,)/2]
. €08 0; — cos 0, =-2[sin ((0; + 0,2)/2)][sin (0, — 0,)/2]



